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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

Animal husbandry is the branch of agriculture --—--—-meeeeev with animals that are
raised for meat, fiber, milk, eggs, or other products.
1) handled 2) concerned 3) included 4) interfered

Named by Portuguese explorer Ferdinand Magellan, who believed it to be free of
---------- -- storms, the Pacific Ocean is not, in fact, so pacific.

1) violent 2) distant 3) temporary 4) pointless

Animal rights is not just a philosophy—it is a social movement that ----eceeeeeeeees
society’s traditional view that all nonhuman animals exist solely for human use.

1) asserts 2) magnifies 3) distinguishes 4) challenges

If people can raise enough fish on farms, it stands to —-----—-- --- that they will be
less inclined to hunt them from the sea.

1) logic 2) rationality 3) reason 4) attention

The programmer -------se-e-—== an analogy between the human brain and the
computer.

1) drew 2) bore 3) took 4) put

The --—smereeeeee -- of the editor’s comments made us think that he hadn’t really read
the manuscript.

|) intensity 2) ignorance 3) tolerance 4) superficiality

The two boys tried to sound ----—-----—-——- at the police station, but they weren’t really
sorry that they had herded the sheep into Mr. Ingersoll’s house.

I) resistant 2) impatient 3) regretful 4) indifferent

Though he spoke for over an hour, the lecturer was completely -—-—------ -- and the
students had no idea what he was talking about.

1) solitary 2) inarticulate 3) curious 4) effortless

For years no one could make this particular therapy work in animals larger than
rodents, but now two research groups have demonstrated its —-----=--eeuuunv in dogs.

1) efficacy 2) restriction 3) sympathy 4) vulnerability
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10- The African elephant has become the object of one of the biggest, broadest

international efforts yet -----eeeceeeeeeee to turn a threatened species off the road to
extinction.
1) intruded 2) explored 3) mounted 4) compensated

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Scientists first recognized the value of the practice more than 60 years ago. when
they found that rats (11) ===-smeemeeaeev a low-calorie diet lived longer on average
than free-feeding rats and (12) ---se-cemmeeeee- incidence of conditions that become
increasingly common in old age. (13) ==-=--eeeeeeeeee ., some of the treated animals
survived longer than the oldest-living animals in the control group, (14) -=-=-=-==en---
that the maximum life span (the oldest attainable age), (15) --=-=--=-===---- merely the
average life span. increased.

11- 1) were fed 2) which they fed  3) fed 4) feeding
12- 1) had a reduced 2) they reduced

3) were reduced 4) that it reduced
13- 1) Although 2) While 3) What is more 4) So that
14- 1) meant 2) which means 3) means 4) it means
15- I)no 2) nor 3) neither 4) not

| PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Back in 1994, programmers figured that whatever code they wrote would run at least
50 percent faster on a 1995 machine and 50 percent faster still on a 96 system. But it
was seen that the ' couldn't go on forever. For decades, microprocessor designers
used the burgeoning number of transistors that could be squeezed onto each chip to
boost computational horsepower. And chipmakers continually upped micro-processor
clock rates, something the diminishing size of transistors readily allowed. But they
found they could no longer reduce the operating voltage as sharply as they had in the
past as they strived to make transistors smaller and faster. That in turn caused the
amount of waste heat that had to be dissipated from each square millimeter of silicon
to go up. Eventually designers hit what they call the power wall, the limit on the
amount of power a microprocessor chip could reasonably dissipate.

To solve that problem, the first general-purpose multicore CPU was designed.
Everyone's happy except perhaps for the programmers, who must now write code so
that work is divided among processor cores. As a result, sometimes different cores
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20-

need to work on the same data or must coordinate the passing of data from one core to
another. To prevent the cores from overwriting one another's information. processing
data out of order, or committing other errors, multicore processors use lock-protected
software queues. But all that extra software comes with significant overhead. which
gets worse as the number of cores increases.

What is the best title for the above passage?

1) How to Make Multicore Chips Faster

2) Breaking the Multicore Bottleneck

3) Multicore Made Simple

4) The Trouble With Multicore

What does the author mean by "the party couldn't go on forever" in line 3?
1) Microprocessors could not scale up as efficiently as expected.

2) Programmers could not join the party.

3) Programming methods could not be the same as before.

4) Designers had to abandon working on new ideas.

Programmers were not happy with multicore CPU because —-----mmeeeees,
1) they could not go to the party

2) their programs were accelerated by multicore CPU

3) instructions had to be executed sequentially

4) they needed to change their programming methods

In a single-core CPU, computational power could NOT be increased any more by ==,
1) increasing the number of transistors 2) reducing the size of transistors

3) raising the clock rate 4) reducing the power supplied

What was the bottleneck for boosting computational horsepower?

1) Programming method 2) Power dissipation

3) Faster transistors 4) Advanced technology

PASSAGE 2:

It should come as no surprise that recent advances in big-data analytics and artificial
intelligence have created strong incentives for enterprises to amass information about
every measurable aspect of their businesses. And financial regulations now require
organizations to keep records for much longer periods than they had to in the past. So
companies and institutions of all stripes are holding onto more and more. Studies show
that the amount of data being recorded is increasing at 30 to 40 percent per year. At the
same time, the capacity of modern hard drives, which are used to store most of this, is
increasing at less than half that rate. Fortunately, much of this information doesn't need
to be accessed instantly. And for such things, magnetic tape is the perfect solution.
Tape has been around for a long while. but the technology hasn't been frozen in time.
Apart from some negative points, the magnetic tape's advantages are many. To
begin with, tape storage is more energy efficient: Once all the data has been recorded,
a tape cartridge simply sits quietly in a slot in a robotic library and doesn't consume
any power at all. Tape is also exceedingly reliable, with error rates that are four to five
orders of magnitude lower than those of hard drives. And tape is very secure, with
built-in, on-the-fly encryption and additional security provided by the nature of the
medium itself. After all, if a cartridge isn't mounted in a drive, the data cannot be
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accessed or modified. This "air gap" is particularly attractive in light of the growing
rate of data theft through cyberattacks. The offline nature of tape also provides an
additional line of defense against buggy software.

According to the first paragraph,------—-—-,

1) magnetic tape is the dominant data storage device nowadays

2) capacity of modern hard drives is increasing at least 15 to 20 percent each year

3) tape recording technology has been recently utilized

4) magnetic tape technology has advanced over the decades

Which of the following has NOT been mentioned as a reason for massive data storage?

1) Security requirements 2) Financial rules

3) Big-data applications 4) Artificial intelligence

According to the passage, which of the following is a disadvantage of magnetic tape?
1) Low storage capacity 2) Slow access speed

3) High power consumption 4) Low security and stability

Tape recording technology is more secure than hard disks because of —--eemmemucnas

1) its lower operating costs 2) its higher capacity for redundant data
3) the offline nature of the medium 4) the locked nature of the medium

The above passage mainly -—----eeeeeeeee,

1) compares two data storage technologies

2) talks about the motivations for data storage advancements

3) discusses the pros and cons of an old technology as a solution to a recent problem
4) reviews the history of data storage systems

PASSAGE 3:

In object-oriented computer programming, SOLID is a mnemonic acronym for five
design principles intended to make software designs more understandable, flexible and
maintainable. The principles are a subset of many principles promoted by Robert C.
Martin. Though they apply to any object-oriented design, the SOLID principles can
also form a core philosophy for methodologies such as agile development or adaptive
software development. The theory of SOLID principles was introduced by Martin in
his paper of 2000. although the SOLID acronym itself was introduced later by Michael
Feathers.

SOLID stands for:

1. Single responsibility principle: A class should only have a single responsibility.

2. Open/closed principle: Software entities should be extensible without modifying
existing code.

3. Liskov substitution principle: Objects in a program should be replaceable with
instances of their subtypes without altering the correctness of that program.

4. Interface segregation principle: Many client-specific. cohesive interfaces are better
than one general-purpose interface.

5. Dependency inversion principle: Classes should depend upon abstractions, not
concretions.
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Which of the following can be inferred from the passage?
1) Adherence to SOLID can facilitate software maintenance.
2) The Interface Segregation Principle was promoted by Michael Feathers.

3) Concretions are harmful to agility.
4) The SOLID acronym was introduced in 2000.

Which of the following has NOT been mentioned as a benefit of SOLID?

1) Increased robustness
3) Increased flexibility

2) Increased maintainability
4) Increased comprehensibility

According to the passage, which of the following is addressed by SOLID?

1) Replaceability of objects by their subtypes
2) Reusability of system components

3) Reliability of class methods

4) Extensibility of network topologies

Which of the following is more appropriate as a title for this passage?

1) Object-Oriented Design Principles

2) A Foundation for Agile Organizations
3) A Typology of Solids

4) Fundamentals of Architectural Design

Which of the following words is closer in meaning to "'mnemonic" in line 1?

1) Reminiscent
3) Inovative

2) Practical
4) Compulsive

Sl plas (I | 27 | jlade .abl ke sae s Z =X +iy oS 28 -T)

el plas X > gl lim
n—»m X

forum.konkur.in

XIn|z|-yargz (\
yln|z|+xargz (v
XIn|z|+yargz (v
yIn|z|-xargz (f

[x]+[x" ]+ +[x"]
n J

lade -YY

o ()
+o0 (Y

—_ (Y
X—)
X—)
_.('f
X



www.konkur.in

934C (TYY) 05wy gaamslS il dc goxao

tca! paS YN+ X 039180 Sy 30 X" g —FY

-t -—

|
gyaswgls B sips
—
1

-~~~
-

¢l o1 (YYY,¥) i U (o, 0) dlais 51 AxT =Py =0 mie ad Job -TF
v
Y
\F
v
\%
Y
WY
Y

(\

(¥

(¥

(¥

.a’-:l“‘ J‘b . f

f ! '.‘JS (

Y cooan¥ e
(x—Y) +(3v+é) +(z 8)

= x =) (¥ odm b Z=0 dmio W Joo 1 C Smie YO

fowul plas C i glil
o (\
\
— (Y
v
Y (Y
Y (f

Q

Y

. Y =
Hlade il cos'x+cos'y+sm z=;+;—z S1o-Yr

\
._(\
¥

\
- (¥
$

\
—— (Y
Y

\
Y

forum.konkur.in



www.konkur.in

A axio 934C (TYY) 05wy gaamslS il dc goxao

ew‘f'.‘s‘jj’% )l..\.io..h'blg KT+)‘T=fx 3 x"‘f‘y":"‘ GuWQ),&NL‘Q’UA;‘ ~-Yv
o VX' 4y

Y ()
YR (Y
¥ (r
fr (fF
Moy 9oy B Z2) Aol o as adl Px Py +27 =8 Uole 45 yF pde pdaws S S 0T B8 -TA
plas II F.nds S e . F’(x._v,z)=\’xzi+_v}—zii S poe ly DAL S p guigy il &S
S
foaw!
T
Y
T (Y

Yo (Y
Y7 (f

t
y(e) =0 adgl bys b y'(t)+j v(x)cos(t—x)dx =cost JI Sl o Judlyand alolacyd y(t) Sle> Y4

?“'f'd’
Jricosrt ¢
\/;COS\/;I (Y

L SR
TlSln\/;l A3

ésin\/;t (f

fowl Y =0 A8l Cilxe slylo { gt dt Y adgl jlads alus Olga 0t Hlads 4 Il - Fe
ye)=a,y'(e)=Y
=¥ )
=~¥¥
\ (Y
Y (f

forum.konkur.in



www.konkur.in

{ axio 934C OYYY) 0S5 o i ganols  pwidiys 4cgoxo

) ¥(o =% aadgl Jas) s Ly o5 i S K0 pai Wolan Y +8INY =0 Juuadlyiyd Uolao upiS 53 ~F
TOWR PRRC ST JECPRTPIRIRY. PR () E
JY—cosy (
vy —cosy (v
Jrcosy -\ (v
vy /Ycosy =\ (¥

oY weSee bad -FY

u (O +sint) ()

~7ns

e

(Cwnl t=2a alaxl ) .\9‘,«1.; &U l.lﬂ(t)) ! plas G(S)= Y
S +§

u, (t)(\—sint) (v
u, (L)(\+cost) (v
u, (t)(\—cost) (f
E[x"m] e B ={X>r} 51080 [1,8] 554 ;0 colpisy a9 b olai puise 3 X 0S 5,8 -FY
! plas’
f Q)
A (Y
f4
-y
do
v
sl pla8 E(Z) shis Z =V XA X e 51005080 550 33 Jlaio! JB> ali U1, X Bolai puice  —FF
f(x)=Y\—x),e<x<)

(Y

(f

Yy ()
Y (Y
Y (v
¥ (F
(X1, X41) 51068 il g o ouilon b Jlo g 98 51 (B0l wigad o Xy Xy i 28 -FO
(me =Y) fouw! plaS D jlade bt (5l S0y 40 oliab! alold
YYF (O
A (Y
TP (Y
q(F

forum.konkur.in



www.konkur.in

Ve daxio 934C OYvYy)os - ,i'mlf WIS AL g0x0

ouud 0010 3 SleMb! AodS (W5 pS o )8 Awulio 980 aNilie Y 51 HLSS wibyla b Jboy ascls> 4w -FF
fouw! plas (SSE,X) = (Uas Sl o £ 900 9 5 nKileo) jlade ool

\ Y

agai ol =1 L I A I

plidigai oSl = X b4 A o

p'i Waoi Hlro Sl il = Sj | oY Ve \,\

(A/AY .8/Y0) ()
(Ajhe 7, ¥8) (¥
(A/AY 5/ (¥
(V),AY .7/¥Y) (¥
T o g0 513 395 (gl 5 s wiz (pafilao jabty o), ¥y M) Ao gome SCASLo coled jo -FY
Y ()

\
— (Y
n

\—l (
n
n-\ (f
3,1 glojlail 4z 5 S Ls (o 5 5] o Syl degazme (0 S ) 3 il Lade 35 g0 F g M 51 - FA
Vx[M(x) = —F(x)] e
—3X|F(x)AM(x)] e
Vx[F(x) > -=M(x)] e
Vx|M(x) > F(x)] e
—VxX[-F(x)v-M(x)] e
VX[-(M(x) A=F(x)] e
—3x|M(x)A-F(x)] e
¥ (F il o) Y (Y ' ()
!l el 3 sloacgama 3l Syplas ~F4
Js! slas! ales degaza ()
Blie Jsb b 05095 glaand) pla degama (¥
WGz 5l i 85 (59, gLl pled degaas (T
loa (slisS 336 53 8 (s S Sl dsgasma (F

forum.konkur.in



www.konkur.in

1) axio 934C OYYY) 0S5 i ganols cwiiys acgoxo

ol e 435 oS 255,13 30 4 a2 g L .alL S AUk & gama (g3 all) SO R 0y (03
ol 3,8 35 S 531051 olGT Al 8,8 o sLas] sl g 53, oo akaly SO R 51 (A

ol 93 30 S 831001 ol Bl z3 oo (slds! Slawi g S35 iy Ally SUR ST (0

RSURCY () v (1 ) N §

S ) () 6 yal (M) (Y

G )3b () wam 0 (i) (Y

Can j3l () e ;0L (a1 (F

—Be

wibio oloyao bpuilo g oylj 4 phis sy ;oSN ool 9 ook ylasslu) S pido aadi' vgyd

(S ol B g Jole g piganelS (5 ) laxo

ol plas 55 (S 5h Al Fly

T(n)=T(n/logn)+O())
O(logn)
O(loglogn) (v
O(logn/loglogn) (r
O(logn / (loglogn)") (¥
23 o S alasi 1y o (539 05350 ol 510 05 (glilas 00510 0,5 M L g2 gcanr 9990 ©3 30 U uS (2,9
W30 (359 S U (A1 0,5 50 (gl 398 350 4 puild o iy puS HI 0 (U Jld) U Ay & 358 5
O 50 S3 )0 (9] )0 g glan o) 1p YU Gl G e il T S Tas g 00 Blas Canly W58 9
(el ¥ Lty ;I sliws) ol plas ey 35 oo y0 W
\vologn (
Y,ologn (¥
Ylogn (v
vlogn (f
ol b slasl 4y 5 Gl (PIVOL) jame olpiea olgids pais o5 alo o 1 30 & o (55l o as 981 53
1y amalio Jas Slasi b pls )91 5l 9 998 Ll jeome (ylgreay slasl aile al> 5o 12 )0 51,095 o0 dunlio
Sl po oo 39801 ABL punki A ] 50 Balie Slasi b (9 oy 30 e sliiw] ailee dawlne
Yol plas &y yuw
O(nlog"n) (1
O(nlogn) (v
O(n") v
O(n) (f

forum.konkur.in

-8\

-oY

-oY



www.konkur.in

VY axio 934C OYYY) 0S5 i ganols cwiiys acgoxo

iy 510 ol 0955 e 9 69939 2 o3y slaxe JWet Wi 02 10 Jusst 39 1) Syyenns Sy didy K0S 28
g (1<K glp) S aidy jf yale o0 (3,5 Ol (o295 50 090 8 g Sy il I paie 5 505 G LS,
8315 (599)8 (lpied Sy & K2 g8 a4 Yoy BSlasl S (548 el S5+ iy Sl ol g8 Sy
el 3 (a9 03,5 dlyi sud S 5l Jlasl b 1) Voeoy 1 G dad (g o0 &5 K () 535295 090 0
fanl plas

) ()

Y (Y

n

n-) (f

el ¥ il 4 17 (53l y0 2 9 00 ooliasl (5 3Lupd 0 (sl (ohas (sl 9 5k (B0 3l S (8

1wl 23 O ygeods Jlupd )0 Jau j0 dlacl 6,051 )8 sea 0uld oo 0yuny P Slue! ded CAL 0 5l o
Afoyes®]=0,5,F,7,1,8,¥

fogs wales Vb SO @ jlups )0 Jaaar Cundy 59959 Sl s e

A ()

Yy (Y

vy (Y

\Yo (F

BFS 50 glis )l v 12! 1, BFS i) 50 51 81, 00,0 Jols G =(V,E) cya oo diven 15 50

flwl Sy B8 ol b JU Slaal  pgeas )0 4 35 plas 0gl o ¥ L5 Tus

|El=6(n)

|E[=0(n") (v

|E|l=Q(nlogn) (v

ASlazsls |y $4g ol a5 35 Jle JUi L B3 e e NYSISN(N=YN)/Y o o (F

e Jlesl oS Jrod sl &y o) a1y iy oo @adlss go g a5 50 1 aSTHE m ol A did

fogu plaxil JI5 I U conl 3o Jos wi BBlas . Cawl alli) glo o0 10 LT SO Z0 L 3505 oG b

g aluold g ks Wi 15 05533 Jab i a2 ED 9 LCS 1 ki g ol A slais] disy A)

(ol (2 501 9 730 B> ooz (23 L)

n-LCS(A.A) (1

n-ED(A,A) (v

LCS(A.A) (v

ED(A.A) (f

forum.konkur.in

-oF

-80

-0F

-8y



www.konkur.in

VY axio 934C OYYY) 0S5 i ganols cwiiys acgoxo

oS 00Ukl 25 i 980 1t oy s ol 51 LS dilome (51 HLb AL G 40w (2,8

s B 45 @S 0 QLU 48 51 pao SO Al o 12 )0 a3 0 )8 o 1) L des I (5500 )LE
& Sogb pedd e ol Gy B3I W 1) pes (ol L des HLG Bl ailly JIB B laes
D95 Gl (g pmmne (i U 0 g el Juiil 1) U5 ool 09 JaaSS (fidyb yasns JU S Sl

F! w30 3590 plaS o 19! ool 51 Lols LG 531001 5 90 4o

ol plp iy LB L O

! aitin S i ojlasl & L8las (Y

ol aiin (L o > S ojlasl 4 Slas (Y

il ateiy LS 0j000) 5l 2aS Ggd oo 58l 2 5 0] sl o5 55 e SlaSs lgs o (F

PR LA oS g 1) o5l Slaad (o piley medled o0 00 Ak Slasl jee g9) 05k M WS (B
Sy iyl Gligen I L oy conl alasjl slaws plp o(T) as 2,8 1 550 gy bl aiblns Sligen
a5 1) o506 ewile (8L ol (o 5l Al ye 8 )0 oS g0 soliiwl ) Al y> iy e8! 51 i (0] Jo
S92 03k sz S eniS oo Do Wils (Fligeed o] b oS (olaejlh plai g Ll canl S aes 51 T €(T)
92 Glas > pha )il AT M () i @S o0 Dl olado @ 1) (S o el (LG Slgaen Slan a5 Culls
laml plas asy 35 (o 50 W35 (o0i algi |) a9 Logy)

3 (\

O (Y

Y (r

Y (f

Sloolitul b 1) dieS ligy o )0 padlys g0 1y pufs 5 15 1) (W) M LG g gy 3 dised 1)l 39 SIS
458 g )S pi el 5o 500 g el 4l (5w P 1y L ST aulS dilone JUug )5 o 58!
Sl gilwasly B Sloj 4z )0 JWuwg S pis jaSdl il L JL (59,5 i 30

O(n"logn) (1

O(n") (v

O(nlogn) (v

O(n) (¥

\ ] oy 9590 plaS 19,409, (DFA) el alioodipds oguas )0

\ sl (aliie oaipdy ol G (O

3,3 3929 (58 SV slawi b g s pdy 0! 5, oo ! DFA (Y
Spdyse ) ) Jlax Jsb 4} g0l leacd) des osipdy nl (T
Spdyee Y Blas Job ) g 0l alaaid) dan sipdy (ol (F

forum.konkur.in

-OA

-04

—;.

-7\



www.konkur.in

V¥ axio 934C OYYY) oS o i gauslS widigs 4c goxo

g 00 s yai pliie i jls pIAS lawgi (gyig; (DFA) oalid AU sdipdy by -#Y
(a+b)* ¢
b*a(a+b)* (v
b*ab*ab* (r
b*ab*ab*ab¥* (¥

iy 5 01y w3 sbaid, 9 L= {ab, aa, baa} ,L; -#Y

wl = abaabaaabaa
w2 = aaaabaaaa
w3 = baaaaabaaaab
w4 = baaaaabaa
?-ﬁ)b )l)i L* )é M} pL\S .-\.n:l'.! L ol.!j (Stal' closurc) G‘B)L’Lﬂ) )t&nﬁ! )“Lg L* -\9_5&"
wl. w3, w4 (v wl.w2. w3
w2, w3, w4 (f wl. w2, w4 (v
= ¥ g gmgn k. n, ~ 3
ol plaza L (A
W) 5 4 ol g Sl Cudgazes e ol S L 5L S L (F
plail biled SO W o Lall EN =) 81 .0ce WL plRes EN g CLR sla 09,9 »j jlae j0 -7

an3 g0 planil | hos 4z p5 loe conl (MSB) (3550 n yidn b (o295 Q05000

B = v Voo sl ijlet (0
LR Q4 |-

VYo slie 5led (Y

ik [ 1Fo (glive b e (¥

EN gﬁ = Po b Ales (F
2\

CLK

Clear /

forum.konkur.in



www.konkur.in

\0 axdo 934C OYYY) 0S5 i ganols cwiiys acgoxo

£3,15 oz Wiz (SOP) b yé Jol> gz Jol> K4 @ 55 &b slp & )le o joslw  —FF

f(A,B,C,D,E) =YX m(,8,18,YF,YY, Yo, Y1)+ d(A,1,1¥,17,Y),Y4)

YO
f (Y
O (Y
7 (f
(A5 o0 hnogi 1) Jlie S 05 90 1) il Caw 33 3590 plAT 1§ Ao gi 43
module DQ(Q,D,M,N); architecture ARCH of DQ is
output Q; begin
input D,M,N; process(M,N)
reg Q; begin
always @(posedge M or negedge N) if(N ="0")then
if(N=0) Q=\b0; Q<="0";
else Q=D; elseif (rising — edge(M)) then
end module Q<=D;
endif;
(S 59 azeudd) end process;

end ARCH; (VHDL az.l)
2ol (ASyNc reset) plfeal SLaib N g I M el 038 L S oy ()
) (Sync reset) plfen SLLN o SUSTM el O3 B S caosi (Y
! (ASYNC reset) alfeal JLESLN 5 5l Jud M ool gl S s (7
Lol (Syne reset) plfan SN 55l s M ol 2 S oy (F

el (QrQQ,) wifi b (29,5 il goad LA T O uld aw jlas w & i jo 1) pj 4l
Yol plas ((000) Canm ) 31 dmy Jlie ool Jauwgi 0udh adgi Jlgi

600—)0\\—)\\0—)05(\

_on @ _Ioo
Q—'T Q 1—1T Q T Q o:o—)o\\—)\\o-—)o\lo("

l— l—> |-> n:h-)ﬂ\\—)\n\—)?\n(\'
LK

ega—dali—dlei>ite—> aei

forum.konkur.in

-Fv

~-FA



www.konkur.in

VF axio 934C OYYY) oS i gauslS widigs 4c gox0

Vollo Yoo Gjgeds B350 9 b Sl ;0 ol G5 glal )1 cowl p) Sygoa Sudle Sl Hloges —£4
o (! oy 4 o S 31 B 50959 Jlos! e ) Yol G )0 2955 plas Lol

yosYoolel ()
VYoooyye) (Y
Yolyeoyeo (¥
Yoo\ooole (f

Nl o oy obyd Add & Shift Jg) & ad Cgpae :B=11001) g Lgpae:A =10)oo)osus g0 -Ve
Sl plaS 2o Oldas Sluwi
& ()
T (Y
Y (¥
Y (F

oy plp ¥ sl OO loj oy Yo aF Cawl 00,5 juudd slaigfas b Loalljgiwd dcgome yigupals G 0 -V
aoli g ol Gk o .Gl 00 B> O jaauwd 31 Ao )3 Vo a8 4Bl Cas v B plp ¥ 0T B0y Yo eud
fol 03,5 (g punti 4z 3 Lo @ o Wy > 0
ol 28l 201580 S s (Y ol S 5905 S g ()
s G Tl (sl Dl e (F ] @28l 2l ey (Y

ol—d o s 29,5 Enable L—x 3 E; sload )8 g09)s Lj )i JSei jo VY
Jlos! Jlas il d sl Sldos a5 pla S 09— plowil Ry ¢ Ry JU il a ol 61y il

(aiol o yd g odid 031 Lis Hex 4 uf) €39

B,V E_ Y E_ Y

E
i ¢
Ly

Ly {} L, {} L, {}

L.
Yo L,
N -
Ly

E (f D ¢ Cq B

forum.konkur.in



www.konkur.in

WY axio 934C OYYY) 0S5 o« i ganols cwiiys acgomro

gy Jlodliiwl b il A>=B aSg sba B g A cudle o sus 99 (aukdi slp S g p3Y by Jilas VY
Yol plas A+ B +)
Z=YOR S=0 (\
Z=YOR C=)\ (v
=ao (Y
C=A

i (93| 30 S5 3ad 30301 Job .l FKB axio yb 53I0l g axieo TY 2510 51410 0310 5 8 codmnws 0 -VF
Tl IS a2 & Canly 31 oy pitaanann (] 30 ol Akl 531001 9 gilaie g 0T Jab .anl G YY
CulighS Y17 Lo YY (Y Sulisks Y17 LYY (0
CulishiS ¥ L S VY (T o P 1, AR b

R lausly slawi o yies iyl 5L R aade jlasla ¥ gyl 5l alas jo a5 5518 0310 5 ¥ Jole poa S5 -V
fasas ) Comn U ol gl 4
Y QO
F (Y
o (Y
7 (f

G310 S 4l s Yo i53g)5 )15 4l dao ¥ o @ 5L a5 aelip SO azslin ouijlo p U i G 3 VP
Wadle o a0 WOt e Sl g i Gjaee @ 0L 5 Hlens Slawi 4 0510 29,5 HI5 4l s Fo g
(o 1yme Lol 003310 1 31 2,5 9 (5998 sWoi;10 ) Seunl plus CPU (5,90 500

\
(O

‘(\'

(Y

A < |t o | .0
O 0 0 o (o} O

— (f
fo

S 33 3390 pIAS (ol 0al &ilyl j 9 0310 3 99 o Sl Al gilwosly 5lp a5 (3 ) pi Rl oguas 0 VY
()10 9929 o j 1y o asliden 9 Casl i 0310 3 (51 a0 ya1) T
While (true) {
Flag [i] = true
Turn =j
While (Flag |i] && turn ==j)
/* critical Section */
Flag |i] = false
)

10 dgama JUasilia e S )l Ll Jlasdl ()
3yl dgama HUaTl o jlo S iy o)l blake jlassl (Y
Sl dgame HUatil oyl i i ol Llae jlasdl (Y
Sl dgama JUasl o)lai caa o)l blats [lasl (F

forum.konkur.in



www.konkur.in

A daxdo 934C OYYY) 0S5 o« i ganols cwiiys acgomro

Copods 1) a5de 4Kl & Gow) el Slaxi 393 Jalaz I gy ool cul 03,5 (ST K0 s
@ ey adge 30 1) 095 alold 4oy Sledbl gy b .ailed gl Cawdds woud o313 (LiS gy yo ) 0 aF golucl
Sgb o 2 BLA bliylt=0 M)J.éﬁ@&moiélx“lud&._«ug&_,A&S@Mb’éo&g_w
plas l=\"4§:d‘5!)g.a,l..\io,>.,8 3 A bl;)'oi )éJ.\o_iJn)ood&cébbWQ)MM t=) 09

A B C D ?w'wé),o
> O—0O0—0t=- B=v.C=v,D=¥ (\
\ Y Y

B=rx,C=%,D=¥ (¥

© 000 B=s,C=¥,D=a (¥
B=¢,C=Y,D=4 (¥

UDP L TCP sln |55 SaS 4 B Cosild s 150000 51 L1300 LSO A Cald 30 50 )5 asli y
59, reevirom() jesel ciige Jos SO g oS il 10 15 0000 Wi g0 ot B 30 5505 (63 )15 Acl p S i 8 o0
il 03 55 Cadly 30 1) A Jload Jlo )l ple Cub 18 00 dad a5 bl cyiakae wilgi oo B LT 080 alodl oS gus 5

Lol oals Sl o Lol ply 09 otedae a5 coi UDP L TCP 35,40 45 2 5 (A

ol odl 8l 30 LelS plis 393 ptekae (lgi go UDP L TCP 5,40 g5 8 ;0 (Y

g halae olai i UDP 6 Ly Jgoad il o Ll5 sl g takae s oo TCP 590 50 (Y

Sy radas Gl ool TCP o)lys s wad 2l o LlS ply 59 alae lgi o0 UDP 5590 50 (F

§\ i SoLai 1o 2ol 5 Splas il asid G o

ezl g o s (¥ o g e 3G ()

Jlo)l g 5lo r?b (f Jesily L)l ):5"5 v

-va

o Jlifw VLST 5 Sz Sy il o 5 i (518 k0) (6 7 3ol s oppiasnnns (&) Lo il g )0

O fowl alas b g8y 90 3l 0ul oo (g Cnglio —A)
MW\—o0a YE (\
7Q AAT
°,févx f'.'b (r
¥ (f
+
AV rA Vi

ob

forum.konkur.in



www.konkur.in

11 axae 934C (TYYY) 05 i ganslS sl 4c g0

Sl ol Wiz iy U2 9)49; e 35 —AY

}?/& "; —# .77 ()
a0 /“-A\ FOQ 555 (¥
—yyy ) WA— T

6°V<f> biy rQ <~L 5 A 2T

! P‘JS )Udﬂb ol )° lf’ ‘_',b._,’. aolee ')?-5 )‘M )\3 -AY

\ _
—cos(ft+¥2°) (

\
—cos(ft—¥a%) (¥
Y
Vo cosFt YoH 1o Q2 z
—cos(ft+ Fa°) (¥
Y

Jr

—cos(ft —¥a%) (f
Y

alizd 30 10) Cuwoglia jlowiy)df U y> Ved 0 s L= 208 0l g coul Jao 4315 adgl g wj sloe jo ~AF

YQ Cal plas t =0

‘Nv \F o ()

S 1 J_"'VC (
t=o - =ig

—‘)A (¥
AR
Yo

aAvV rQ ‘;TA (¥
=Y¥e

—A (f

t>o sbaple; sly V. jUs (egee) ol Fuly py8 0sd g0 ais t=0 alid )0 K s 5 jlae )3 -AD
YO ol plas
Ae ™' +Be ™!
Ae ™ +Bte ™ (v
(A + Bt)cosodt (v

cos Yt (*_')

rv e “(Acosmy + Bsinmg,) (F

sin Yt %YQ

forum.konkur.in



www.konkur.in

Y+ axao 934C (YYY) o5 i ganslS cwidigw 4c g0

Fluw! Gy o )5 SWg Hlade 5,L,0 0 )90 plaS s ad & Wl Ol 0 -AF
Va'min =°s VA" .max = Vpp ()

V, - =
V.-\.min - va 'VA,max - vI)D (¥

pD
Stage 1 Stage 2 T Stage 3

Va’.min = vlp l:VB,max = Vbp = Vin (¥

_4; _4EI _4 VB'.max = Vpp—| vtp s Va’,max = VDp (*
X A

Stage 4
CLK CLK Q

D | '4C "":

B’

—C o

P(A=\)=P(B=\)=P(C=\)=$ fCwl 0390 plas plpZ 0,5 Cudlad o pé ) ylaw j0 —-AY

\d

#¥f

X X 7 5
D e

B = ol 7t

Y

\F

\Y

\F

fow! pW W p5 JCLSRAM bl 8 pan (ylgi o Gl sbal > 51 05 i ol —AA

M,,M; : Vy =o,ov,(%)=v

A%% \

M 9“ :V =—\V, w— ) ——

yoMg: Vyp ( L) .

' HA
k =’OVY,VDD=YV

Vpp =TV o ()
YO (Y
vl [ e
Q- —Q 10 (F

M‘:l R

I

forum.konkur.in



www.konkur.in

Y amio 934C (YY) 05 = 5 gasslS  pawikien 42 oo

faiS o0 gilwodly 1) (ouli a3 1gy00) 2bg slae -AR
L e Oyeea F=A®B@®C (A
5L iy o jyea F=A®BOC (v
34 A o),“,.hm (v
L ey Ojpea JF = (m) (f

T 00 518 gLl Aol 43 joi 3153 93 A R 5l (5)lade a4z slilay 5 00 (waSe po —As

mA mA 3
(A Bl’ =YVY—’I VT\' =\V, B‘ =\F,VT\=\V sl b e 31,5)

VDD=6V
k<R <yvk (0
Yk <R <Ak (¥
— ™M, :
fk <R <Ak (v

fk<R<\rk (f

2l ol ol aidls 1,3l JBlus jlae &5 oS amdn slaiaSa p) e yo 1) LS plu asil 28 L -4)

a Dc fow! jads Slos>
b 'Y (O

VO (Y
b‘ . )4 (¥

YY (F

Hp = Y“p

"

forum.konkur.in



www.konkur.in

YY axio 934C (YY) 05 = 5 gasslS  pawikien 42 oo

Oype & Boaae 50 sad 03l Guled s Ze) &F Wl W 2 1) p) O p S preeaw -AY

(Min—tejoek 10QsMAX — tggek 10 Q) = (0.5,2) raaiin l)b Lo wiws (min-delay, maxdelay)
e ity sy TaBs 516 g il B (511 LS 4ad 4S! 553 b i tgrg =1, tyepyp =13
Towwl plas’ WS 391 Hludie

Yo ()
(2.9) (es))) A
- I RN 3 T WY o(r
% Q) [T WY (F
o, 15| tou,
» > > i) > >
(1.6 48
2 ) 2 (4.8)
e Logic | s Logic 2
tew, tew,
Vo =8V Tewlolighedis Vo, =1Vishil 4 toul olgf a4 500
Ko =123 Vi =-Vip =%
Y8 XE ()
AY,8 (Y
PV (Y
Vel (F

fogu 001> Hlue &y Wb 5399 ylop plas (E SA1D) E o)F 0 ¢S & Sy JIKS QLS g1y 5 jlae 5o
abed=0110

[P E
b >>— abecd=0111 (v
abed=1110 (r
. abcd =1111 (¢

—

forum.konkur.in

-qy

-4¥



www.konkur.in

YY axio 934C OYYY) 0S5 w0 i ganols cwiiys acgomro

Cogd yho o295 4w o (CIK Skew) CIK G2l U abl jlaie 42 Ry 305 N a0j98 Jhhe 35 —40

Ry, =5R (\
R
& —wv—_LT CIk) Ry =4R (v
A T I R, =3R (r
C R

clock R I - Ry =2R (f
driver ;LI C IC

&
| Clky
!

4 C

¥

Ol Canw 33 43a 35 AIAS WAl 395 S 30 X(1) JUSuwo 4398 Jioi X (jo) 51

\ @© Y,
—I X (jo)do =y
Yrnd-=

R!%_J

o0
\ LJ‘ | X(jo) [ do=\ (v
YRd—

>t —‘—I X'(jo)do =¥ (r
YR d—

Lr" 1X(jo)[ do=Y (f
YR d~>

Mol =x(M)X(N =) & jmoam 2955 = 5959 akaily g VD] (29,5 3 X(N) (5993 b e 3590 50
Fla! S yd 4l 3F plos

sl iy g8 g )lauly s ()

il gL ogSae gyl s (Y

sl oy wgSas 5 5lbl s (T

ol 3L vgSaa g 5lbU g (F

s (93| 4 b Gl .y(t):e_"u(l) b cawl plp x(():e_lu(t) 9959 & LTI g O 2l
Sl p‘-&:

h(t)=8(t)+e "u(t) ¢
h(t)=8(t)—e "u(t) (v
h(l)zu(_t)+c_"u(l_) (r
h(t)=u(t)—e "u(t) (¢

forum.konkur.in

-5

-ay

-4A



www.konkur.in

YF axio 934C OTYYY) 0S5 o i ganolS  cwiipo 42 goxe

Ay =Y ocag @98 Gpwnl o Lad Coalioyeo b x(n) walin g A Al JUSw SO 390 0 -4

7n Yn
Ycos(—)+ fcos(—n) (\
I} )
L Y
fcos(—n)+Ycos(—n) (¥
] I
Ym fn
Ycos(—n)+ fcos(—n) (v
(A] ()
YT AR
fcos(—n)+yYcos(—n) (f
[ [
1 ygeody A 90 3O i el Wb Jlos! e aiwnd LTI s S5 @ X[n]=uln] g39)5 51 -)ee
r
sl im0 Fwly O yls plas .l Y(0) =), y|\|=;

" u(n) O

Y'u(n) (v
() u(n) v
v

() u(n) (f
Y

¢ (Epio igh loodld sl pbluols) ol bl 5 i sol 104 oy 33lo b it gy

B — bBb o] o 00l 0310 jol )5 pguas 10 3 80 plas  —)0)
B—b wiamss SLR(Y) Ll e LALR(Y) 01,5 (0
wanes LALR(Y) Ll cees LR(Y) 4ol 5 (¥
s LR(2) Ll s SLR(Y) 4l 3 (¥
s LR(Y) ,al 2 (F
! oy 3590 plos L LLAY) 9 LR(Y) 4325 b9 90 amslis jo -\eY
Sl g LL 5 a8 adg eow i 5 LR (A
Sy 65 LR 5 a8 ades o Slai I LL (¥
38 555 LR 5 5926 slolhas asis coy Lk I LL (¥
3,08 55 n LL g9 slalhas asis Sy ki LR (F
fadld Jos (One Pass) ¢ )45 UG O )g0d JlulS 55lwesly ol alss o 3 50 plas —\eY
(Dynamic Scoping) Lg sauesgams wluly 1oy jLiel sdgama i yai ()
(Dynamic Allocation) L &gt | olej abidls acasi (Y
Display alasl> 5l solizal b s pl v (518 juiiie &5 oo 2w (T

3959 4slip )0 pite Job b ola)lsy 3525 (F

forum.konkur.in



www.konkur.in

YO axio 934C OTYYY) 0S5 o i ganolS  cwiipo 42 goxe

SLALL (s by pawdi 9 (Return) clSiL jeiws o (Call) Slg1 8 jeaws o5 udei b akuly j0 -)oF
g (Caller) osuiileslyd agy 90 o (Return Sequence) cis;L 5 (Calling Sequence) les1,8
! G yo & jlus plas (Callee) ool suiles!,3
Dgd ca 0313 1,8 oailgsl 3 suge y RS (illsy 2 g 0ud ouilgs )8 oage p CS sy iy ()
Dg co 0303 )18 aul ouilgSl 8 ouge » RS (sl 2oy g sasiles! )b ange n CS allsy iy (¥
g g 0303 513 00l suiles] 8 suge p wallss g0 ja ailby i (Y
D ga 0310 4113 oasiles] 8 sage p wallis g0 o asllsy i (F

3 (Operator Precedence) Slec puii &3 Mgy 90 b aluly 10 0ol 00ls ol ) pauas 10 3 90 plas —1ed
Sl Cawyo g o puili plgi Joua 3l eoliwl g (Simple Precedence) soluw puis
25 ealaid algs (ul 5l Ol oe s 99 8 58 ()
2,5 oolin! milg sl 51 las oo OP Ly, 40 Jaiid (Y
3,5 oolina wilgs ol 5l olgs oo SP g, 5o Jadd (¥
35 oolinal pilgs ol 5l Ul omi plaSmen yo (F

ol o yd SLR(Y) 3 LR(2) oYb @ ool @520 sla iy dumlio 5590 50 4y 35 plas’ -\+7

S—ab|aa|bB
B—b|ba

sl LS5 SLR(Y) slo zals w55 b LR(2) )0 ous plowl (sla 2als o5 5 o s34,9 4 (15! 4 ()
3,15 5L 6268 el 4 (Reduce) 2als Jac ploxl 3500 50 (505 paamai 51 LR(2) (¥
83 go aniets |) SLR(Y) 1 (5 2e5 (5526 slallas LR(9) ¢
ol $$s SLR(1) 3 LR(2) )b Jgas o3l (F
ol 9 el sud adyi LLAY) wjos by abews & 5 a5 Jaaa (G e 5l Jhias pol 5 S0 gl -0

Sl grammao 990 1S gt
a b ¢ d S
S| S>a, | S»a, |S>a, | S->B
AlA->a, | A->By | APy
B B—>ay | BB | B—f,

Follow(A) = {b.c} . First(A) = {a.g} ()
Follow(A) = {c} , First(A)={a.,b.g} (v

Follow(B) = {b} . First(B) = {c.d}
Follow(B) = {d} . First(B) = {b.c.g} (f

forum.konkur.in



www.konkur.in

Y5 amio 934C (TYY) 05 = 55 gasolS  paridigen 42 goeo

S ploi a5 w8 o gulei 1) SLOLS plad Camd 0ud 0310 SQL oS plus (0010 sBUL & azgi b —\+A
! o azd )5 colel Loyl
user (UID, name, Contact)

BOOK (BID, Title, Publisher, TotalNumber)
BORROWING (UID, BID, StartDate, EndDate)
(D9 ooy baxni ame & g Cowl MUl 4ils 0,0 ol Cilal jo joun LS 39
a) with thl as (
select BORROWING.BID, count (BORROWING.BID) as cnt
from BORROWING, BOOK
Where BOOK.BID=BORROWING.BID and EndDate is null
group by BORROWING.BID)
select thLLBID
from tbl, BOOK
where thLBID=BOOK.BID and BOOK.TotalNumber = cnt

b) select BID
from BOOK bl
where (select count (UID)
from BORROWING
where BORROWING.BID = b1.BID and
BORROWING.EndDate is null) = b1.TotalNumber

¢) select BID, TotalNumber
from BORROWING, BOOK
where BOOK.BID = BORROWING.BID and EndDate is null
group by BORROWING.BID
Having count(BID) = TotalNumber

La()

o o

.a(y
b

Lo}

forum.konkur.in



www.konkur.in

YV axio 934C (TYY) 05 = 55 gasolS  paridigen 42 goeo

O e 990 AlaS Cawl ol 00l Julei yj SISO 30 E4 3 E3 ([E2 El Cudeage £9 )2 jl plodiges VA
fomw! Jauxo b y2o EER jlogai

(O

(¥

[£2] [E3] [E4] |E2| [E3] [E4]

forum.konkur.in



www.konkur.in

YA axio 934C OYYY) 05 i gaadlS il 4c goxe

iyl 5 0 1) 3,49, Cliolal g odle Sledbl L
Person (SSN,name,address)
Car(License, year,model)
Accident (License,accident — date,driver,damage —amount)
Owns(SSN, License)

foawl alls 1y Bolai op s 38 » ouddl) plas (Olslai g by pudile SleMbl STL 4 asei b
(SQL L3 4 09 00ild )5 & jles 1yl 50 9 00l pU)
(select driver. damage-amount from Accident) Except (select a.driver, a.damage- (\

amount from Accident a, Accident b where a.damage-amount < b.damage-amount
and a.driver<>b.driver)

select driver, damage-amount from Accident where damage-amount in (select max (¥

(damage-amount) from Accident)

select driver, damage-amount from Accident where damage-amount = max (damage- (v
amount)

o] s 3 lga ann (F

wdolal S 1 Gl 0 owidile N ojlads plaS (1)e Jlgw) cOlokai g owiile  Sledbl b 4 4345 b

(g 00l ()Ll HLsy hadd (61,50 (o yhaws 3 SQL b & asly) Toawl 0092 15y

select distinct A.License from Accident A where A.License in (select B.License from
Accident B where A.accident-date <> B.accident-date)

select License from Accident group by License Having count (accident-date) > 1 (v

select A. License from Accident A. Accident B where A.License = B.License and A. (v
accident-date <= B.accident-date

ol oo ¥ g ) 3 g (F

o s i 8 1y w3 U sl Sawls s R(A,B,C,D,E) a,

f={A—>B,AB—-CD,D— ABC}

Sl plas alaly oo uits als

BE (f AE (v AD (v AB (\

Tl S 0 00l 00l glae I35 51 luwi an

ol Ggbuma b y2aS 0ylgad aluly o sauds pl slaw 1 alaly SO Wails slaaals’ slasi (A

sl YU 25T ally ool sadS gl Slasi olST (abl damas 0 1o R ally 51 (o

S 0 394 |y piw SJUL SQL ;0 ALTER Table oo (z

A w381y slesls JMaiw! iy oo Index g View ;1 soliiul (o

o e (F o) 4w (¥ o, 92 (¥ ol S0

forum.konkur.in

—“.

-

-y

-y



www.konkur.in

T4 axio #34C OTYYY) 0S5 o i ganolS  cwiipo 42 goxe
S B 1) 5 ol g Sy g adaily -1IF
R(X,Y,Z)
VWY-SZ IXZ-Y YI)X-Z
S w3 &5y IS (398 alay & az g3 by
o BON Lo i 5,3 53 alaly o (Y ol 215 05 X ()
ol B3> 5 g alls] daseitie spgs Koy ;0 X (F ol i 6 g adlsd pgur  Sausly (F
oL B < 0 il IS griamns s 33 31 il y Ky 50 015 p8 10 il (gl = W oy o0 5981 53 -11D
ol A g oS (3l B YO byl b1y by ol 0S50 s g uyp ol o e ey iy
i 9 9 G )0 (39 Sl (258 b e W)l g S350 (58 Sl sa o 98l Oy 90
FCaw! Zramao 390 plas Las JF plai olai;,d sualiv
an3 o plal ayp 10 lailial 02,580 ojlail @ 25Tl 5o 50 apa 025801 ()
Sa3 e plaul i o llisl o, 081 ojlail & slas u"i) B0 a el (Y
ojlil & 251a> min Lgl,s._‘,..i) 33 g e laibial o o8l o3lail 4 | il dmax dhwi) 3 WA ol o8l (Y
a3 o ploul s 8 sl o2, 68
ol 4 2Slu> MAX slaul, 40 5 o3)ll) o208l o3l 4 Jsla> N gla ) 10 was o ,e8H (F
A oo plol s o lailiil o2, oSl
3,90 plus .all (Conjunctive Normal Form) ihe Jlo g o, @ glol3 alie )0 J)ls ¢ o o8 -1V?
Cn! o log ) § (ogeas 0
al>ye o 0 G L Jols D e oS5 g B0 d9zse SIS (55, » gy Baels S Jlesl L ()
99l Csay | @ 5l gl LB slacbe ploi (i 0
ol B 0 d9mse slagdS 5l e Jilas o] Cou a5 o)l 0935 § sl (interpretation) ,..s G (Y
ool axlls €« o
el i ) sla Jae Slass 1§ sl Jae slaws (Y
i s L 338 slasif Jf poSn F
(Resolution) cus 5 Jas 31 4l yo < 31 it ol 43035190 51 SoplaS & (i « 25 SIS sl adlsly —11Y
Yo, 5L
P=>0QAR
-PAR=S
Q=P
-PvR @
-QvP (Y
-QvR (¥
-RvSvQ (f

forum.konkur.in



www.konkur.in

Y+ axio 934C OTYYY) 0S5 o i ganolS  cwiipo 42 goxe

Fiaw! Cawyd 9590 plas (il (admissible heuristic) Jgd b6 o, 2 g0 hy g hy 51 -1IA
s Jgud bB &b S 02 h=hy+hy ubli ()
! (consistent) |18 5Ls ot S Lgyl h = max(hy,h,) ot (¥
il Jged B8 &l O (0< <)) llw h=ch, +(\—a)h, b (¥
Sl 421D 3929 L9y iy Caml e L VN(h,(n) <hy(n)) 81 (F

39 9 Gl Sgdminns () pwab sAILS) UL 1 cdn ool MXN  Lbaiise a5 55 K6 4 Jaze 0 -1
Slpals 4 Cunl opl Sdad g uiS 0 £9,0 S dhali G I Jole wlS 5,8 .0, S ik LA I S
a5 ol U cuwly g oo (ol YU slaliul) 5l plas 0 50 Wilgh o Jole (A5 pa 50 .05 SN 1) 1328 gol>
g o 8518 3929 182 (4 ;0 a5 all Slails Jule suaie azilin oiS S o olaids Slui & ouuw 5 oile &
29t byl 51 as slasils slawi 51 Jiiaws o Jole S8 pb a5 Cawl 355 & 03V .l o0 Gls & 00l SN
sl w0 4y 35 plaS oguas (0] )0 .0, 38 ualy SO 00 )F

[

KV S

sl M+N 51> (branching factor) oless! ;5251 ()

A5 lagy | altss ool iy Slgar Wlgi o BES) gl s g (¥

! (@dmissible heuristic) Js.d LB o 500 ol S wats Slids glalic slaws (Y

sats Sldle glalié ggl> slaails U Jole (Manhattan distance) ;e Jolsd gaamma 45 5,800 ibi (F
el Jod LB Al SO i o L )

) ahse saclsar plod o ls s &5 35 wudgime sLo)| Jiluw Jo slp giuar (pgas )0 a3 plas 1T

S| o (il

o o) 3 01 Jlade g gn i 45 @S S 1) (5yuite pl 50 50l g o puize LB pl8s ()
S e S0y G W ) b g

Joa 1) &3 5015 ke paij g0 i AT @S W] 1) (g it ' Ja 0 Cl i s puice Wl A (Y
S gn Py Cuilgs 4 ) (Jad ge2c

Jot st o> &5 @S Sl ) (g lais a5 e o Cul g de it lp ke Sl plia (Y
S gr S0 Sl ) Jlad (g9

et pjer i &5 S QL) g )Me plS e )3 Sl e e piie slp lade Sl pls (F
S g PSS Caige 4 ] ad (gei

forum.konkur.in



www.konkur.in

¥ axico 934C (TYY) 05 = 55 gasolS  paridigen 42 goeo

! (Lpiasnna g B JlSaws o b gincro gt o S0 piS olbylko) (KTl 5 Hgincro Jigh aradi' wg)d

t>o0 slasle; slp V, Wy (g0908) stk Fawly 038 Do 0 iy t=0 aldxd K ods pj e 0 -

Wv e "(Acosmy + Bsinog)
Ae Ot L Be ™t (v

Ae ™ + Bte™™ (v
(A + Bt)cosmdt (f

>
sin Tt %rn

alizd 10 1 Caoglin 3l oi ;a5 U > Sgul oo Ay t=0 ;0 S alS g Cuwl i il adgl L9 w5l y0 1YY

YO Sl plas t =o™

A \F o ()
J_t Ve

S
1Q

v Q —A (¥

AR
179 Tl plas (b g2y g0 3l 0ud owd (e Cuglio 1YY

AMN—O0a ¥ Q)
.0 (Y
£Q ‘
8 4 o
YF (F
+
A Vi2rQ
= b

Soaw! p'é.f .Ai,..b ﬂ'ﬁ VY 3 V‘ 3L:.I, Joi LS'HR C«o’ﬁn )LLEA -\YF

2 t=o
A
o,\’ovx

AV A

v, \

-\ ()

o (Y

V(Y

7
oy 0 (F

forum.konkur.in



www.konkur.in

Y'Y axio 934C OYYY) 0S5 i ganols cwidiys acgomxo

fow! plas B uile Cdl> 50 Ty b yo Aolao ) sloe yo -1YD

demF \
a0 ° Iy —cos(ft+fa°) ()
Y

\
Vo cos ¥t YoH 1o Q2 -\:cos(\‘t-fo°) (Y

Y
—cos( ¥t + ¥a°) (v
Y

Y
£cos(‘ft—\‘o°) (f
Y

ol ol i By 0y 9549 Jlae yo -1YF

20 iy
MW x > 757 ()
f
,°,Q,v 5 Q| XY (Y
g —5 85 (¥

°°v<t> oy rQ CJ. $A o (F

f ! Cow ;3 GRAPHPLAN g POP gla 5 540l 3 590 50 4l 3 plas -\YY
Al ety ples Faoy Wl e vs i 4l S g5, 5 sl p g3l GRAPHPLAN 3,006 5 50 ()
a0 s plol (forward search) s,sl> sex s G ey ady gl POP 3 sl (Y
S oy S ol JBlas b ) asliyy 45 4S5 e cpeis POP 55500l (F
! galad 153,40l Alins 03l ez 00 &Sl (530,400 1T 55lsl GRAPHPLAN 3 400 5 o (F
) alws sl ploi )10 duad a5 g wCudgae Lo, Jilue Jo glp gt (pgeas )0 4l 3 plas -1TA
fouw] e ol
gt 1) dg 5015 Jlake @i 0 i 4T oS Ll 1) (g e plE o 0 Cl g e Ll P8 ()
A e PSP ceSl ) el g
s oV 1 IS i afi o ke & el el U 6 ke L 8 il s it R (Y
S g FS15 Cortbyn 4y b Sy
rrt paijer i 45 05 L) g)laie S pa g0 Sl g dajie slp e Sl s (T
A5 g K03 S 4y, b gy
i i cai ot US 4238 AR |y (glia I8 a8l 24 dbpaaza sl dada: ol al€ia (F
i gn Sy Cdibgn 4y 1) b genin

forum.konkur.in



www.konkur.in

YY axio 934C OYYY) 0S5 i ganols cwidiys acgomxo

] S 30 3590 plas (il (admissible heuristic) Jou8 JG 5,50 ali g0 hy g hy 51 -1Y4
s Jgud bB &b S 02 h=hy+hy abli ()
Db 4Bl 3g3y £9p0 Candy ol (Kae il VR(h () <hy(n)) S (¥
! Jped B Al S (o< <)) gl h=ah, +(\—a)h, &b (¥
<l (consistent) 185 o6 G Lyy h =max(h,,h,) &b (F
(Resolution) «us 5 Jos 3l al> o &G 31 fw plowil 4500 5lg0 51 S plaS @ cyduwy « 5 il oGl lloly 1Y

o, 5L
P=0QAR
-PAR=S
Q=P
-PvR
-QvP (¥
-QvR (v
-RvSvQ (f

3,80 plas .ol (Conjunctive Normal Form) ilac Jloyip,d & glol38 ahin 0 Jile ¢ ol 5,8 -1
$nsl grarmio log 3l  pguas y
e 0 0 @ b Jol> IS il oS5 5 0 )0 39250 SIS (55, 2 Osls5) Bl )8 Jlae! L ()
D) Camdts |y @ 5l zlizal LB slass)le ples g o0
il O 50 deree S e o o] cou a5 0)ls 3929 ¢ 5!y (interpretation) i S (Y
Al axsly € ) o»
ol 2t = sla Jae Slasi 5§ (sla Jue Sluai (Y
A s Ll 398 sloas ;¥ 5l alaSzs (F
LT P S il 4 ld gmianns s 30 1 ol y Ky 30 o8 y8 10yl (Gl Wl o yb s 9800 y3 VY'Y
Ol At 9 oS 1300 BEYA b b U1y byl ol aiS (5,8 g g0 b iy oo 0lid sasd (ylwij,8
i i § 9 T )0 (39 Sl (558 U e ) gy S350 8 (sl g 0598l O 00
flal zaamie 390 plas (o ¥ plod (ylaij,d cualin
a3 o plaul s o bl o )68l ojluil 4 25T v,,i) JYIPCINVRCIPGANL Y Q|
83 o plol e ) lailial o2 )68 o1l 4 Jiloo o) o 23 S ol oSN (Y
o3l & STas MIN gla ], ;o 5 o laitial o 68 o5l & Jslas max glaul, 1o asas a8 (T
ojluil & ,2STu> MaX sla i, ;3 5 o lulial 02,68 ojlil 4y Jila> amin gla i, ;5 wax o2 ,eS (F

A o plol oy w8 lasbiul o2 45U

forum.konkur.in



www.konkur.in

Y¥f axio 934C OYYY) 0S5 i ganols cwidiys acgomxo

39 8 Gl S90iinn (Sy pwab sLAL) LA 51 pan sl M XN Lt a5 pj SIS0 & Jaso o -TY
SRl aS Cowl ool ABus 5 AiS 0 £9,0 S ahali S 1 Jole S (250,18 3929 1A AL I S p
b YU slaliwly 3 las 1o 45 wilgi oo Jole (2GS pa 40 S Glide I 132 (sol>
e o1 00,18 3929 108 1] 43 45 uBb Sl Jole duaie dzilin .uiS G > olaids Sl & sduw yi ooilo &
yomas La oyl 5l as glasils Slosi 1 Jitus o Jole S8 10 a5 Sl 53 @ o3 .ol oo Ll @ sud SN

sl w0 4y 55 plaS (o guas (] 30 3,10 &l 58 Uty S s S

& 2l bl gee

lad 1
i

RV S

el M+ N 5Tus (branching factor) Class! ;g5 (A
A5 gy ) alts pl gy Sl Wl o (BES) sl o (s (Y
2l (@dmissible heuristic) Js3 LB 5,50 b S oaits Slids slalis slaws (¥
sdis Sl slalié gol> ladils U Ll (Manhattan distance) ;igie Jolsd gaama a5 5 50 ali (F
el g BB 2l S ams e Gl
Sl Sy ) se,l58 5 SSplas Sin(t)y(t) + cos(t)x(t) =o aoles b ool oy piwww 3590 )0 ~\TF
ol Gloj b p3lipasds (as i (Y o (e 5 (a3 s 2] ()
ol JOL g o s ol (F ) 5l b oy g ol s ol (¥
3 X(N) a4 598 (5 36 5100l N =7 090 b Sudg py dsnn JUSiw S5 X(M) 05 (2,8 17D
a8 auild o paddd dole A L

A =y

5
Zx(n) =\Y
n=o

5
Zl ay =18
k=o

"]
sl oIS D XXM +Y) ko & 900 4l 59

n=o
-0¥% ()
-YY (Y
YY (¥
oF (f

forum.konkur.in



www.konkur.in

YO axio 934C (TYY) 05 i gansls pwdiis 4c g0

blygn 35 O g0t pimm 3 ¥[0] (2955 3 x[0] 5599 Aty TP
y[n] —%y[n —Y] =x(n)

Coal a8 ¥[Y¥] Jlade adlm polie polai (gllas X(M) =) pissas 53959 51
+o0 (\

-
—

“+|e <« |-
_
4

~
-

09 g0 ka5 il yis s Wolao U e s pianw O V(1) o9, 9 X(1) (539,9 alaly -\TY
Y'(£)+Yy'(t)+y(t) = x(t)
Yl plas’ il x(t):e'nu(t) $9939 @ s ool Fely
(t+V)e "u(t)—e Mu(t) O
(t=v)e "u(t)+e Tu(t) (v
(—t+\)e"'u(t)+c""u(t) (r
~rt

(t+Ve 'u(t)+e

Sl S 305 J1 85 ke il X(1) 4599 Jood X(J0) 3 ablh oidh sy 3 S5 @l X() 551 -1FA

u(t) (f

40 sinr(g)—)
J' X(jo)— - el®do
- ©

T ()

A x(t) 1
— (Y

\ Y
T o

>t

-\ \ ¥

vy (F

forum.konkur.in



www.konkur.in

Y axio 934C (TYY) 05 i gansls pwdiis 4c g0

V() =YX(=Ft+1) JUSw 4398 bawi emels X(jO) 1) X(1) z35 5 i JUSuw 4,98 Joad 1 -1T4
Y oaw! ,LaS
A

c_J:X(.ig) (\
Y

A0

cJ:X(j-(B) (Y
Y
eMOX(ivo) (v
e X (jrw) (f
1 ygeods Al 90 3O piuw el Do Jlos! e @i LTI piiew 5 & X[n]=uln] 3459 ,51 -1F-
! s (0l 4308 Fesly ©5le ol .ol Y(o) =Y, YY) =;

" u(n) O

Y'u(n) (v
() u(n) (v
Y

() u(n) (¢
Y

forum.konkur.in





